Subtract 1-digit Number from Whole Tens

Find the difference.

10-6 = 40 - 9 =
60 -4 = 30-2 =
40 - 2 = 70 = 6 =
20 -6 = 70 = 4 =
10-8= 60 -5 =
40 -6 = 70 -7 =
30-3 = 30-5 =
70-2 = 30-3 =
80-1= 40 - 8 =
20 -7 = 90 -6 =

Go to onlinemathlearning.com for more worksheets




Subtract 1-digit Number from Whole Tens

Find the difference.

10-6= 4 40 - 9 = 31
60 - 4 = 56 30-2 = 28
40 -2 = 38 70 - 6 = 64
20-6= 14 70 - 4 = 66
10-8=2 60 - 5 = 55
40 - 6 = 34 70 -7 = 63
30 -3 =27 30-5= 25
70 -2 = 68 30 -3 = 27
80-1=79 40 - 8 = 32
20-7=13 90 - 6 = 84
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